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Question 1 (COMPULSORY)

[25 marks]

a. Biiefly explain the rationale for using the mid-year population as a denominator for

demogtraphic rates and also wiite the fortula.

(4]

Table 1. You ate given the following births and infants deaths recotded in country Y in 1967

and 1968.

Yeat : Births cohotts Age (yrs) Deaths Births
1967 1967 0 2893 142471
1968 1967 0 481 .
1968 1968 0 2603 | 138214
1969 1968 0 302142471 o

b. Using data in table 2: What is the conventional infant moztality rate in year 1968?

c. Why is the infant mottality tate used as an indicator for health in a country?

d. Name five (5) issues to consider with tegard to occutrence and registtation of the IMR

e. Define the following mortality concepts and provide a formula for their calculations

i, Age specific mortality rate

#, Maternal mortality rate

3]
[3]
5]

[3]
(3]

f. Using the data provided in table 2 calculate the maternal mottality rate and maternal mortality

tatio for country X in 1990.

Table 2: Data from Country X in 1990

4]

Births 4158212
Maternzl deaths 343
65624

Women aged 15-49




Question 2 (COMPULSORY) 25 matks]

You ate provided with data in table 3 fot region A in Country X.

'fable 3: Data for region A of Countty Y

Indicator 2000 2010

Population (mid-year) ' 100 000 120 000

Numbet of women 15-49 - 20 000

Bitths 5 000 6 000

Deaths 2000 1 800

Number of women 15-49 - 20 000

Gitls under age 5 - 20 000

Childten under age 5 : - 40 000

Bitths between 2000 and 2010 55 000

Deaths between 2000 and 2010 19 000

Based on the data in table 3:

a) Comment on what happened to the crude bitth rate and crude death rate for region A
between 2000 and 2010, 4

b) Crude tates ate not recommended for drawing compatisons between populations. Explain
theit limitations. ' [4]

&) Calculate the fate of natural inctease in 2000 and 2010. [3]

d) Calculate the general fertility rate for region A in 2010, {3]

€) What was the net migration of region A for Country X between 2000 and 2010° [4]

f) Using the geomettic growth formula, calculate the anmual rate of growth of the population
between 2000 and 2010. ' (4]

g) Assuming an exponential growth of 3 per cent for tegion A, in how many years would it

- take for the population of the region double in size? [3]

ANSWER

Question 3 [25 marks]

a. 'The data in table 4 below relate to a certain African country. They come from a large-sample
survey of the population of the countty which took place in 1992. You ate also told that the
total number of utban women in the sutrvey is 1,334 and that the total number of rutal

~ women in the sutvey is 10,518.
i, Calculate the general fertility rates for tural and urban ateas; and [6]
i,

Calculate total fertility rates fot urban and rutal areas. 4]




‘Table 4: Data for countty X in 1992

_ Pet cent (%) of all women in age " | Age-specific fettility rates (per woman)
Age gtoup  gtoup :
Utban Rural Utban Rural

15-19° 9.7 | 9.4 0.135 ' 0.165

20-24 - 1041 7.8 0.268 - 0.291

25-29 9 6.3 0.242 0.273

30-34 6.3 5% 0.210 : 0.261

35-39 4.7 4.4 0.149 0.202

40-44 3.0 4.4 0.086 L0123

4549 19 31 0.012 , 0.062

b. ‘I'able 4 below gives the numbets of bitths, deaths of infants under 1 year, and deaths of
infants aged under 28 days, in a certain developing country in selected fecent calendar yeats:

i, Calculate the percentage of infant deaths in each yeat which were neonatal deaths; [3]
ii. Calculate the infant mostality tates fot each yeat, and comment ofl yout answers; (5]
iii. Calculate the neonatal mortality rates for each year, and comment on your answers; and  [5]

iv. Btiefly explain four demographic variables that have a great impact on the chances of
sutvival of infants and young children. - [2]

Table 5: Data for country X

Number of deaths

Year Nutnbet of Births Atages under 1 year At ages under 28 days
1986 755,000 7,180 4,000
1991 792,500 5,820 3,460
1995 732,000 4520 3,070




OR

Question 4 o [25 marks]
a. Define the .demograpbic usage of the t;arm fertility and diffetentiate period and cohott
fertility [6]
“Table 6: Data for country Y |

‘Age group All women Children botn Female children S
15-19 34115 | 18670 9015 0.9742
20-24 335924 75651 36956 0.9713
'2_5-29 ' 313611 | 69048 133785 0.9683
3034 351825 46193 27385 0.9644
35-39 372637 23559 ‘ 11377 0.9587
40-44 354594 : 5409 31131 0.9500
45-49 321900 456 - | 226 0.9364

Based on the data in table 6:

b. Estimate and intetptet the General fertility rate [3]

c. Hstimate and interpret the total fertility rate {4]
d. Estimate and intérpret the Net Reproductive rate . (4]
e, Sketch a graph for the ASTRs : [4]
£ What is the difference between net reproduction rate and gross reproduction rate? -~ [4]




